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main()
{int m,l,g;
for (m=2;m<{=333;m—++){
lI=lem(m,667—m);
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int ged (int a,int b)
{ int i;
for (i=a;i>=131——)
(1 (@%D 1 (b%id))
return(i);

}
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int letn(int a,int b)
{int i3
i=b;
while (i%a) i-+=b;
return(i);

}
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#include<stdio. h>
#include<math. h>>
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# define eps le—6
typedef struct {float x,y; tpoint;
typedef struct {float a,c; }line;
main()
{point a,b,c,al,bl,cl,a2,b2,c2; L
line aal,bbl,ccl;
readpoint (&a) ;readpoint (&b) ;readpoint (&c) 5
intermedium (a,b,&c1);
intermedium(b,c,&al);
intermedium (c,a,&bl);
straightline (a,al,&aal);
straightline (b,b1,&bb1);
straightline (c,c1,&ccl);
intersection(aal,ccl,&b2);
intersection (bb1,cc1,&a2);
intersection(aal,bb1,&c2);
if (abs (area(a,b,c)—7 * area(a2,b2,c2))<eps)
printf ("\nO. K. This proposition is all right. \n");
else
printf (“\nl find an error on this proposition. \n");

}
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void intermedium (point p,point g,point *r)
{(r—>x=p.x+2 % (q.x—p.x)/3;
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r—>y=p.y+2* (q.y—p.y)/3;
}
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void straightline (point p,point q,line * pq)
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void intersection (line pq,line mn,point * r)

{r—>x=(mn.c—pq.c)/(pg.a—mn.a);
r—>y=pq.a*r— >X+pq.c;
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float area(point p,point q,point r)
{float 1,a,b,c;
a=distance(q,r);
b=distance(r,p);
c=distance(p,q);
I=(a+b+c)/2; .
return(sqre(l » (1—a) * (1—=b) x (1—c))); ' :
) N
XEEE — TR SRR R
(5) readpoint A&~ H AT ERERE.

vold readpoint (point * a)
{scanf(" %t %f" &.(a—>x),&(a—>y));
}
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float distance (point p.point q)

freturn(sqre((p. x —q. x) # (p. x—q. x) T (p.y—q.y) * {p.y- g-y)))s
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#include<stdio. h™»
#include<Imath. h

# define eps le —6

typedef struct{float x.v: point;

typedef struct{float a.c; tline;

void intermedium (point p,point ¢ .point * r)
{r—>x=p.x+2* (q.x—p.x)/3;
r—>y=p.y+2% (q.y—p.y)/3;

}

void straightline (point p,point q,line * pg)
{pq—>a=(p.y—q.y)/(p.x—q.x);
pg—>>c=p.y—pq—7a ¥ p. X;
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void intersection (line pg,line mn,point * r)
{r—>x={(mn.c—pqg.c)/(pg.a—mn.a);
r—>y=pq.a*r— >x+pq.c;

}

float distance (point p,point q)

e f e



H
i

{return(sqrt ((p.x—q. x) * (p. x—q. x)+{(p.y—q.y) * {p.y "y vy
1

float area(point p,point q,point r)
float l,a,b,c;
a=distance(q,r);
b=distance(r,p);

c=distance (p.q)}

I=(a+b+c)/2; ©
return(sqrt(d * (1—a) * (1—=b) » (I—c))); NI
} .

void readpoint (point * a)

fscanf (" ¥ E Y E &la—>x) &la—2y)); .
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main()

{point a.b,c.alblicl,a2,b2,c2;

line aal.bbl,ccl;

readpoint (2a) ;readpoint (&b sreadpoint (¢.c) :

intermedium (a,b,&cl);

intermedium (b,c,&al);

intermedium (c,a,&b1);

straightiline (a,al,&aal);

straightline (h. b1, &bb1):

straightiline (c.c 1, &eel Vs

intersection{aal,ccl . &b2);

intersection (bbi.ccl,&a2);

intersection(aal.bbl,&c2);

if (abs (areala.b,c)—7 x areala2,b2,c2))Teps)
printf ("\nO. K. This proposition is all right. \n" s

else
print{ ("\nl find an error on this proposition. \n");

}
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#include<stdio. h>
t define s 100
main ()
{int m[s];
int n,p2.p3,i;
m[1]=p2=p3=1;
scanf(” %d” ,&n);
fori=2;1<{=n;i++)
if(2*m[p2)l==3*m[p3])
{m[i]=2* m{p2]+1;p2++;p3++;
!
else if (2 * m[p2]<<3* m[p3])
{m[i]=2*m[p2]+1:p2++;
}
else
{m[i]=3* m[p3]+1;p3++;
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printf ("\n" ) ;
for i=1;:;i<=n;i++)
{ printf (" %4d” »m[i]);
if (1%10)printf("\n");
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int factorial(int n)
{if (1 mreturn(l); .

else

return(n * factorial(n—1));
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int fib{(int n)
{if (In) return(0);
else
if (n==Dreturn(1);

else return(fib(n—2)+fib(n—1));
}
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int factorial (int n) ‘
{int i,f; Fib(n—2)—b
=1,
for(i=1;i<<=n,i++)
fx =i;

retnrn(f);

}
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